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1. How much will the man pay if he takes the train?
A. $7.00. B. $7.50. C. $15.00.

2. How long will the man have to wait?

A. 5 minutes. B. 15 minutes. C. 20 minutes.
3. When will the speakers get to the party?
A. At 6:00. B. At 6:15. C. At 6:30.
4. How many guests came to the party last night?
A. 25, B. 50. C.75.
5. At what time did the man have to see Jennifer’s teacher?
A. A1 6:30. B. At 10:10. C. At 10:20.
6. What time does the man think they will leave?
A.7:47. B. 7:25. C.7:27.
7. What time is it now?
A. 4:50. B. 5:00. C. 5:10.
8. When did the train leave?
A. At 6:30. B. At 7:00. C. A1 7:30.
9. How much did the woman pay for the camera?
A. $25. B. $65. C. $90.
10. What time is it now?
A. 5:15. B. 5:30. C. 5:45.
11. When does the TV program begin?
A At 6:30. B. At 7:00. C. At 7:10.
12. When should Ada get here?
A. At 12:10. B. At 11:50. C. At 10:12.
13. How many times has the man been to America before?
A. Once. B. Twice. C. Three times.
14. How much does the recorder cost?
A. $20. B. $30.50. C. $50.50.
15. How many lessons must the man review over the weekend?
A.3. B. 12. C. 15.
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What is the probable relationship between the two speakers?

A. Interviewer and interviewee. B. Doctor and nurse. C. Boss and secretary.

What's the probable relationship between the man and the woman?

A. Boss and employee. B. Workmates. C. Classmates.

What's the relationship between the man and the woman?

A. Waitress and customer.  B. Nurse and patient. C. Receptionist and customer.
What is the relationship between the two speakers?

A. Husband and wife. B. Boss and secretary. C. Teacher and student.

What is the woman?

A. A doctor. B. A teacher. C. A bank clerk.

Who are the two speakers?

A. A boss and a salesgirl. B. A teacher and his pupil.  C. A professor and his assistant.
What do you know about the woman?

A. She’s the man’s wife. B. She’s a business manager. C. She’s a company secretary.
What do you think the man is?

A. A car coach. B. A bus driver. C. A taxi driver.

What is the probable relationship between the speakers?

A. Host and guest. B. Waiter and customer, C. Shop assistant and customer.

What is the probable relationship between the speakers?

A. Colleagues. B. Classmates. C. Teacher and student.
Who is Dam Morrison?

A. Mary’s doctor. B. Tom’s doctor. C. Tom’s hoss.

What is the woman?

A. A bus driver. B. A telephone operator. C. A tourist guide.
What is the probable relationship between the speakers?

A. Old classmates. B. Husband and wife. C. Boss and secretary.
What is the probable relationship between the speakers?

A. Husband and wife. B. Doctor and patient. C. Teacher and student.
What is the probable relationship between the speakers?

A. Doctor and nurse. B. Boss and secretary. C. Teacher and student.
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Where is the leather sofa now?
A. In the study.

Where is the post office?

A. On the right of Bank Building.
B. On the left of Bank Building,
C. Opposite the Bank Building.

B. In the living room.

Where will the woman buy the cigarettes for the man?
A. At the store.
Where did the woman go last night?
A. To the library.
Where does the man work now?

A. In Cambridge. B. In Edinburgh.

Which direction does the post office face?

A. East. B. West.

Where did Susan often go to read?

B. On the road.

Which country did the man’s wife visit last?

A. Malaysia. B. Korea.

Where was the man Jast weekend most probably?

B. At his home.

Where dees the conversation most probably take place?
A. At home.
Where will the man probably go first?

B. At the gas station.

B. To the cinema.

A. In the classroom.

A. In his sister’s.
B. In a car.
A. To a post office. B. To a classroom.
Which country will the man visit next?

A. Switzerland. B. Belgium.
Where does the man want to go?

A. To the zoo. B. To the bank.
Where does the conversation probably take place?
B. In a kitchen.
Where does the conversation probably take place?
A. On abus.

A. In a garden.

B. In a post office.

C.

C.

. In the dining room.

. At Aunt Mary’s.

. To the shop.

.. In London,

. North.

. In the library.

. Japan.

. On 4th Street.

. In a classroom.

. To a restaurant.

. Austria.

. To the bus stop.

In a restaurant.

Near a bus stop.
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What does the woman advise the man to do?

A. Order the shoes from a catalogue. B. Look for the shoes more carefully.

C. Run in town.

What does the woman ask the man to do?

A. Help her repair a washing machine. B. Help her choose a washing machine.
C. Teach her how to use a washing machine.

What does the woman suggest the man do in his living room?

A. Hang some pictures. B. Buy some fine furniture. ~ C. Use a different wall painting.
What does the woman suggest the man do?

A. Request a wake-up call service. B. Buy an alarm clock.

C. Stay up all night.

What do we know about the man?

A. He doesn 't like his major. B. He prefers mathematics.  C. He will study biology.
Why doesn’t the woman want to go to the beach?

A. She can easily get sunburnt. B. It's not hot enough to go.  C. It will be raining hard.
Why won't the man buy a rnew car?

A. He doesn 't like a new car. B. His garage is too small. C. He doesn’t have enough money.
Why did the woman buy a heavy coat for Jimmy?

A. Winter is coming soon. B. Jimmy will go into the mountains.

C. Jimmy has caught a cold.

What are the two speakers talking about?

A. They are talking about what to buy for the woman ’s father.

B. They are talking about what the woman’s father will like.

C. They are talking about what to do in the evening,

What are they talking about?

A. Mistakes. B. Books. C. Jobs.
. Why won't they take a taxi?
A.It’s too early. B. It’s too late. C. It’s almost impossible to find a taxi.
What are the speakers discussing?
A. Spreading flu. B. Spreading wildfire. C. An international event.

What can we learn from the woman’s remark?

A. The man is too tired to go to the movies.  B. The woman wants to go to the movies.
C. The woman does not want to go to the movies.

What does the man advise the woman to do?

A. Get some sleep. B. Prepare for the test. C. Have a cup of coffee.
What does the man suggest the woman wear?

A. Her suit. B. A sweater. C. Some warm clothes.
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Why did the man congratulate the woman?

A. She will visit Britain. B. She got a lot of money. C. She won the radio competition.
Why do the speakers decide to take the subway?

A.Tt’s cheap. B. It’s faster. C. It’ s more direct.

Why does the man think the movie is better?

A. He likes the scenes. B. He likes the acting. C. He likes the plot.

Why is the man unsatisfied with the woman’s explanation?

A. He called her an hour ago. B. She gave him the wrong number an hour ago.

C. He got through on the number an hour ago.

Why is the woman surprised?

A. The man is wet. B. The man lost his raincoat. C. The man walked a long distance.

Why does the man come to the woman’s?-

A. He wants to ask for a leave. B. He wants her to look after his dog.
C. He wants to buy her a dog.

What does the woman want?

A. A pair of sports shoes. B. A sports jacket. C. A sports uniform.
Why is the man now living outside of the city?

A. Traffic in the city is unbearable to him.  B. Traffic outside of the city is heavy.
C. He gets used to living outside of the city.

What is the man doing?

A. He’s working in a hotel.  B. He’s visiting a young couple. C. He’s travelling around.
What is Mark most likely to do this evening?

A. Reading. B. Watching TV. . C. Relaxing.

What is the girl doing?

A. Writing a book. B. Taking a note. C. Keeping a diary.

Why does the woman tell the man to ask Ann?

A. She is a librarian. B. She owns a bookstore. C. She probably has the hook.

What stops the man to go to the party? s, B

A. He doesn’t like parties.  B. He has to go to school. C. He has to do some studying.
Why will the man go to Edinburgh? ;

A. To drive the woman there. B. To have a meeting in Glasgow.

C. To meet some important people.

Why is the man moving? :

A. He doesn "t like music. B. He needs a quietei'. placé.

C. He doesn’t get along well with his neighbor.
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What does the man think of the cake?

A. Special. B. Delicious. C. Nat very good.
What does the man imply?

A. The neighbors probably won’t turn down the music.

B. The woman should move to another place.

C. He wants to listen to different music.

What does the woman probably think of the man’s hairstyle?

A. Ttis cool. B. It is unique. C. Itis out of date.
How does the woman feel?

A. Happy. B. Surprised. C. Disappointed.
What does the man plan to do tomorrow afternoon?

A. Meet the woman. B. Attend a meeting. C. Go to a hospital.
How does the woman like her job now?

A. It’s boring. B.It’s fun. C.It’s interesting.
What does the woman mean by saying that?

A. It’s not so good as it was. B. It’s better than it used to be.

C. It’s even worse than people say.

What are the speakers mainly talking about?

A Agift. B. Paul’s daughter. C. American boys.

What are the speakers discussing?

A. The sky. B. The weather. C. The newspaper.

What are the speakers mainly talking about? .

A. How to drive a car. B. How to use a mobile phone. C. How to use a ticket machine.

What are the speakers discussing?

A. A restaurant the woman owns. B. A trip the woman takes frequently.
C. A trip the woman has already taken.

How does the man feel about the test?

A. Bored. B. Confident. C. Worried.

. What does the man think of the sofas?

A. They are expensive. B. They are comfortable. C. They are high—quality.
What does the woman mean?

A. She likes to share books with the man.

B. She agrees to talk with the man frequently.

C. She wants to borrow some books from the man.

What does the woman think of the man?

A. He is clever. B. He is honest. C. He is kind.
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What’s the speakers’ plan for tomorrow?
A. To have a swim in the river. B. To pay a visit to a place of interest.
C. To visit a few of their friends in the country.

What does Richard intend to do?

A. To be a soldier. B. To see the war films. C. To play soldiers with his friends.
What language can you hear in the film?

A. English. B. Russian. C. French.

What will the woman do after supper?

A. Have a walk. B. See her father. C. Go to a park.

What do we know abeut the woman?

A. She is a writer. B. She is writing essays. C. She is travelling at the moment.
What will the woman probably do?

A. Wash clothes. B. Work in the yard. C. Enjoy the beautiful day.

What do we know about the man?

A. He is in hospital. B. He has had an operation.  C. He met the woman three weeks ago.
What does the woman suggest?

A. They don't have to go to the concert. B. His brother will let them use the car.

C. The bus is fine to them.

Why is the woman moving?

A. The present room is too expensive. B. She needs a quieter place.

C. She doesn 't like to listen to the radio.

What kind of boy is Jack?

A. A very lazy hoy. B. A very bright boy. C. A very naughty hoy.

What did the woman promise to do?

A. To receive some guests. B. To have a talk with her own daughter.
C. To have lunch with both Scott and his daughter.

Who is the woman probably talking to?

A. A driver. B. A ticket seller. C. A railway worker.
Who will receive the letter?

A. The man. B. The woman. C. The woman’s brother,
Why does the woman bring back her skirt?

A. It is too dark. B. It is too big. C. It is too small.

Why does the woman can 't do some washing?

A. The pipes are being repaired. B. The pipes are broken.

C. She must pipe water.
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Where is the conversation (X7%) probably taking place?

A. In a depariment store. B. In a restaurant.
Where did the man put his room key?

A. At school. B. At home.
Where is the woman going?

A. To the office.

Where does John want to go?

A. To the park. B. To the zoo.
What does the man think of the singer?

A. He is good. B. He is clever.
What does the man think of the woman?

A. She’s mad. B. She's boring.
When will the woman go to the countryside?

A. This Friday. B. This weekend.
When did Louis set the world record?

A. In 1990. B.1In 1992.

When will the shop close?

A. At 5:00. B. A1 5:30.

When will the speakers visit the Great Wall?

A. Tomorrow. B. After two days.
What is not suitable for the man?

A. A night flight. B. A plane to Paris.
What happened to the camera?

A. Someone fixed it. B. Sharon repaired it.
How will the speakers go to have a picnic?

A. By bike. B. By train.

How will the man probably solve his problem?

A. By buying a car. B. By taking the bus.
How did the woman get rid of her house guest?

A. She beat her.
C. She told her that she needed the room.

B. To the company.

fr#RA 10 e o ) R S A S/ B NI BE T

. In the library.

. At office.

. To the park.

. To the library.

. He is handsome.

. She’s‘ friendly.

. Next weekend.

.In 1999.

. A1 6:00.

. Next week.

. A plane ticket.

. It's been thrown out.
>. By bus.

C. By walking on the street.

B. She shouted at her.
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What do we know about the woman?

A. She missed Jane’s birthday party. B. She hasn’t received Jane’s invitation.
C. She will attend Jane’s birthday party.

What did the woman da yesterday evening?

A. She ate out. B. She watched TV. C. She watched a match.
What can we learn from Mr Rice?
A. The woman will get a holiday easily. B. The woman won 't get a holiday.

C. The woman will get a holiday with difficulty.
Who will be absent at the party?

A. Jessica. B. Rose. C. Linda.

What is the man going to do on October 28th?

A. Attend a wedding. B. Go to a concert. . C. Leave his cousin.
What do we know about the woman?

A. She has been offered a new job. B. She has been fired by the company.

C. She has been absent for some time.
What is the man going to do?

A. To go to the theater. B. To visit his uncle. C. To hold the party.
What can you know about the talks?
A. They haven’t started yet. B. They have got an agreement.

C. They haven’t achieved much.
What are the two speakers talking about?

A. Painting. B. Rivers and mountains. C. Hobbies.
What do the man s words mean?
A. Nobody can be best. B. Do as well as you can.

C. It’s difficult to do something important.

How did the man get the house painted?

A. He had his brother do all the work. B. He painted himself.

C. He had his brother help him.

What does the woman think of the man’s shoes?

A. She likes them. B. She dislikes them. C. She is not interested in them.
What was the woman ’s reaction to the building of the chemical plant?

A. She agrees to it. B. She doesn’t agree to it. C. She has no opinion.

Why will the woman stay at home in the evening?

A.. To wait for a call. B. To watch a ball game on TV. C. To have dinner with a friend.
What is the reason for the woman to say sorry?

A. Because she couldn’t buy a new shirt.

B. Because she dirtied the man’s new shirt.

C. Because she was not able to wash the shirt.
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Where can the man smoke possibly?

A, In the room. B. In the next room. C. Outside.

Why does the man refuse to look at the woman’s dress?

A. He doesn’t want to. B. He’s not interested. ~ C. He’s too busy.

Why can’t the woman give a reply then?

A. Because she has to get her husband s permission.

B. Because she is not sure whether she will be free on Sunday.

C. Because she doesn’t like foothall matches.

Why is the man unsatisfied with the restaurant?

A. The food is terrible. B. The prices are rising. C. The service is bad.
What does the man suggest doing?

A. Letting the children make their own amusement.

B. Arranging some games for the children.

C. Leaving the children at home.

What does the man advise the woman to do?

A. Buy a cheap watch. B. Take the watch to the park.

C. Have the watch repaired in a shop.

What does the woman suggest doing?

A. Having a break. B. Continuing the meeting.  C. Moving on to the next item.
What does the woman want to do?

A. She wants to prepare supper. B. She wants to stay at home.  C. She wants to eat out.
How will the man and the woman travel?

A. By bus. B. By airplane. C. By car.

What is the man going to do?

A. Buy some typing paper for the woman. B. Borrow some typing paper from the woman.
C. Lend the woman some typing paper.

What did the man do?

A. Worked for a charity. B. Changed himself. C. Set up a charity.
What will the woman probably do tonight?

A. Stay at home, B. See a movie. C. Finish the assignment.
What will the man do?

A. Call John. B. Go without John. C. Wait a little longer.

What will the man do on Friday?

A. See a film. B. Attend a lecture. C. Go to the theatre.

What are the speakers doing?

A. Watching TV. B. Listening 1o the radio. C. Swimming in the channel.
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13.

14.

15.

What is the son asked to do?

A. Turn off the light. B. Turn on the radio. C. Turn on the light.
What’ s wrong with the woman?

A. She has a backache. B. She has a headache. C. She has a fever.
What does John mean?

A. He daesn’t remember his friend. B. He remembers seeing his friend.

C. He sends his regards to his friend.

What does the woman suggest the man do?

A. Visit a doctor. B. Get some rest. C. Take some medicine.

What does the man suggest doing?

A. Taking the subway. B. Walking to the theatre. C. Having supper at home.

What does the woman suggest doing?

A. Buying a new car. B. Buying a used car. C. Using the public transport system.

.Why won’t the woman order dessert?

A. She will not be allowed to come into the restaurant in jeans.

B. She doesn’t want to gain weight.

C. She is afraid of dropping the dessert on her clothes.

What does the woman suggest he do? _

A. Call a friend. B. Work on his car. C. Take a taxi.

What does Ellen suggest?
A. The shopping must be done first. B. The concert should be good.

C. She will take the things to be bought home.

What does the woman mean?

A. She does not want to go out. B. She wants to go to a comfortable place.

C. She doesn’t want the man to watch TV.

What do we know about the man?

A. He will not learn computer. B. He has no idea of computer. C. He does not like to use computer.
What is the talk about?

A. Exam results. B. History paper. C. A good job.
Wheo are they talking about?

A. A lady. B. Cleaning ladies. C. A teacher.
What’s being discussed?

A. A bad cold. B. The weather. C. The sun.
Whom are the speakers talking about?

A. Their daughter. B. Their student. C. Their friend.
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1.

10.

11.

12.

13.

14.

15.

When did the man last meet Ashley?

A. Three days ago. B. Two days ago. C. Yesterday.

What 's the correct time?

A.11:55. B. 11:50. C. 12:02.

When will the coat be finished?

A. By Thursday morning. B. By Friday evening. C. By Friday morning.

What is the probable relationship between the two speakers?

A. Professor and student. B. Classmates. C. Singer and listener.
What is the relationship between the speakers?

A. Doctor and patient. B. Headmaster and teacher.  C. Neighbors.

Why did the woman have to walk?

A. She bought something on her way to work. B. Something wrong happened to her car.
C. There was a traffic accident.

Why didn’t Paul come to the party?

A. He was ill, B. He was busy. C. He was on a trip.
How many countries has the woman been to so far?
A. Two. B. Three. C. Four.
What time will the two speakers arrive for the meeting?
A. At 3:10. B. At 3:40. C. At 10:00.
Where did Linda grow up?
A. New York. B. London. C. Paris.
Where is Jack now?
" A.Heis in hospital. B. He is at school. C. He is at home.
How did the man feel about the movie?
A. It was not bad. B. It was not good at all. C. It was just so—so.
What does the man think of the film?
A. Frightening. B. Interesting. C. Boring.

Why did the woman choose the apple?

A. There was nothing else to eat. B. She likes apples.

C. She thought it was good for her health, .

How long will they have to wait before the game starts?

A. 10 minutes. B. 45 minutes. C. Half an hour.
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